Probability Practice

Draw an AREA model or TREE DIAGRAM & find the probability.

1) Tossing a die and spinning a red, white, & blue spinner with all three parts equal.

Find:

a) P(odd,red)=_

AREA model or TREE DIAGRAM
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b) P(3, not red)=

c) P(prime,white);
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Draw an AREA model or TREE DIAGRAM & find the probability. ,\)

{ \::

2) Flipping a coin and spinhing a green, red, white, & blue spinn‘er with all four parts
equal.

Find: _ ‘ .

a) P(H,red)= . _b)P(T, notred)=__ c) P(H,white or green)= -

AREA model or TREE DIAGRAM
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Quirk at the Fair

Mr. Quirk decides to open a booth at the
local fair. His game involves flipping a coin
3 times. If you get three heads you win $5/
If you get exactly one head you win $27 On
the other hand, if you get exactly two
heads you must pay Mr. Quirk $67 Will Mr.
Quirk gain or lose money? Draw an area
“model and show all work to support your
answer.
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PIG WORKSHEET
EXPECTED VALUE PRACTICE
\/ i), RUGS & TREES

NAME : V CCLVdY] Mg i DATE :

DO ALL WORK ON SEPARATE PAPER.
FOR EACH OF THE FOLLOWING :
Make a RUG or TREE and find the E.V. for each.

Like the Letter Carrier Problem, two bills are taken, NO the first is NOT replaced!
Each numbered problem is a new and different situation.

1) 2 - $5bills and 3 - $ 1 bills
2) 1 - $10bil, 3 - $ 5 bills, arjd 6 - $1bills

3) 3 - $5bills and 2 - $ 1 bills
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Trabosh at the Fair

Mr. Trabosh decides to open a booth at the local fair.
His game involves rolling a die 3 times. If you roll three
even numbers or three odd numbers you win $6. If you roll
exactly one even number you win $1. On the other hand, if
you roll exactly two even numbers you must pay Mr.
Trabosh $4. Will Mr. Trabosh gain or lose money? Draw
an area model and show all work to support your answer.

) [ o, : ’
o - r A

& 7~ N 91 ‘ o g ay p
1} { {/ L) \ < J ) ' i - )~ F~ / !

i

\ if \
, L
00
e
- - il -
- o s
. O | -
. — == 'R
;f ] - il gl -
¥ } i
. A NG
0 |
]

|

|

i |
‘.

/

|
3
{ ]

%

e I F {
\ 5 WAFE + IO F b opddiie
\ { X AV, it e ; A — / 3 R
1 / ! ;’ A
L - 1 \ Y { N
i
{



o g’X?? 3 & (py ot (g

& 2

(e 7 | z.

Q/ 3,,7,,/— 5 )f 2=l pogien
sl 2 é ;-\/ué 677 /jcv @ |

s -

T =39 Ty
. V 9




I

|
In Martian Lawn Darts, you earn points in a special way. Your first toss is taken from 30
feet away, and if you make it, you earn 5 points. If you do make it, you get to try a toss
from 20 feet away. If you make that toss, you earn 3 more points, and a chance to try
again. If you do get a third toss, it is taken from 15 feet away, and it is worth 2 more
points. So, if you make all 3 tosses, you actually earn a total of 10 points for your turn.
Your turn is over as soon as you miss the target on your 10ss.

Captain Quirk makes 60% of his tosses from 30 feet, 75% from 20 feet, and 80% from 15

., feet away.

a) What is Captain Quirk’s expected value forextra points in Martian Lawn Darts?

b) If Captain Quirk gets 20 turns in a game of Martian Lawn Darts, how many points
would you expect the Captain to make?

.kHJ‘



REVIEW SHEET for PIG
‘ DATE :
cks. How many

DO ALL WORK ON SEFARATE PAPER !l!!
- Sheila has 6 different blouses and 5 different pairs of sla
different outfits can she wear ? ~
A bag contains 80 chips. Forty chips are red, 20 are white, and the rest are
blue. What is the probability that a chip drawn at random from the bag is NOT

-
cen | ¢
b

{

o 3

[ ¢

&

g
white 7 (L
A box contains an equal amount of red and white balls. Altogether there are 50
balls. A red ball is picked at random and NOT replaced. A second ball is drawn
and NOT replaced, ittois reql. What is the probability that a third ball chosen at
) of eight test scores is 86 . Four of the scores are

d 90. Write a short explanation of how you would approach
r test scores could possibly have been ? Based on the

3
random will be red ?
4. The average ( arithmetic mean
80, 90,80, an
finding what the other fou
given scores, what “kind” of scores do you think were achieved ? What could be a
logical range of scores ? Please give an example of four scores that work .
e bag has chips numbered 1,2,3,4 and the
1,2,3. Make area rugs or charts to help find

Billy has two bags of chips. On
other bag has chips numbered
bability ofasumof 57 :
f 47 EXPLAIN!
2 ? EXPLAIN !

5.

the following.
a) Whatisthe pro
b) What is the probability of a product of 4 ?
c) What probability is better, a sum of 6 or a sumo
d) What probability is b?tter, a product of 6 or a product of
es. If he gets the sequence {H , Tyhe gets 2 points and if
{H , Hyhe gets 3 points. Anything else resultsina O
d Value per tum for this game ? EXPLAIN !
but only 50 %
ow all of work

6. Joe flipsacoin 2 tim
he gets the sequence
point tum. What is his Expecte
0 % accuracy from the free-throw line on his first shot,
his second shot. Draw an area diagram (rug) and sh
rt your answer in finding his expected points per one-and-one
l 0 ' Vv <«
is fair. Mr. Bill has a bag that contains three $5 bills , two

bill. Each player will draw two bills out of the bag. If the
$5 bills or two $2 bills, the contestant keeps the money.

ntestant gets nothing. It costs $4 to play per turn.

/

7. Billyhas8
accuracy on
necessary to suppo

situation.

63.\\ You are at the St. De
) $2 bills, and one $1
/,.) contestant draws two
“" Any other combination the co
a) Will Mr. Bill make money for good old St. Denis in the long run ?
b) How much money would a contestant gain or lose on average ? EXPLAIN !
(theoretically), if 100 people played ? \ 6

@ c) Explain what would happen,
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Garne of Pig Test Namel] :(Mqe| Placwg-“C . 4d 714
e % Date |/ ! :/ 1 s

i I

Aiulﬁple choice:the best, answer for each of the following. \ L~
, " (:
1Al

1) Bob has five different shirts and four different pairs of pants. How many
different shirt-pant combinations can he wear? (5 pts} ?L |

A) 9 B) 25 c) 16 (D) 20)

2) A box contains 50 marbles. Twenty-five are red, 15 are white, and 10 are
blue. Steve took a marble without looking. What is the probability that the
marble is not blue?(5 pts) 0 28 1S

Vg S0

r——
A) 1/5  B) 1/3 C) 12 D) 34 E) 45~

3) A bag contains an equal number of red and black checkers. Altogether, there
are 24 checkers in the bag. A red checker is drawn from the bag and not
replaced. A second red checker is drawn from the bag and not replaced. What
is the probability that a third checker drawn from the bag will,be red?(s pts)

5 g

A) 5/12 @) 5/11> C) *11/24 D) 1/2 . E) 5/8 ¥

."‘ [
A

T

4) The average (arithmetic mean) of seven test scores is 86. Four of the scores
are 80, 83 86 and 92 Which of the following could NOT be the other scores?

5 pts} y ¥4 20|

A) 80, 90, 91 B) 75,88, 980/ (C) 85,8493 " D)78, 91,92 E) 70, 95, 96

'5) On which spinner is the chance of the arrow landing on 2 the same as the
chance of picking 2 from the hat? (5 pts}

N




Complete each of the following problems. Follow all directions.

6) Laura is going to spin each of these spinners and find the sum of the two

numbers.{15 pts)
{ 3 f 2
1
0

4 3

In the spa&fﬂ% make a list or chart of all the possible outcomes.
y 51

[
Q“‘\
/i(-,.i_/

0

a) What is the [probability of spinning a\sum of fou

S

iNIrpey

b) Explain whether Laura has a better chance of spmmng the sum of four or the

um of two? , ‘
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7) Consider the following game.
" In each turn of the game, you flip a coin three times. If you get three heads, you win 7

points. If you get the sequence “head, tail, head” you get 3 points. If you get another
sequence you get no points for that turn. What is your expected value per turn for this

game? Explain your reasomng {15 pt/l
7 7 )

J
¥
e Tl e 80,

‘l
—

|
[ ,-—{"/ ‘-'-:- 7& f - 4 '
K Mrozr ot Aot oitasts
] v AL L L
[
.y w2 . :
A o oD L aen ., N
, J /I — AL Lo
--/ zr J _L_/ y -~ Y.
“LOe Ao AT h‘»{r—f 0 & S A
A St (“{‘ P
r ) \ | ‘;}
i M Vadl/| » = _ . /
i } & A1 ) ',j'_ ;fi /
= ‘ { J
ra ] — \,_i".‘
\[) i :
Y~ |
vEC Tyt n

)



8) In Martian Football, extra points are much different. Your first extra point try is from the
fifteen yard line and you get three points for making it. If you do make it, you now try a field
goal from the ten yard line. If you make this one you get two points. When you make the
second field goal, you now try from the three yard line for one point. If you make all three
field goals you get six extra points (3 from 15 yards, 2 from 10 yards and 1 from 3 yards).
Any time you miss, your extra point attempt is over. Your total extra points is the sum of the

field goals you made.{15 pts}

Coach Gallagher makes 60% of his kicks from 15 yards, 70% of his kicks from 10 yards
and 95% of his kicks from 3 yards.

a) What is Coach Gallagher's expected value for.extra points in Martian Football?

b) If Coach Gallagher has 10 extra point attempts in a game, how many points would you
.expect the Coach to make? .
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